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Answer any three questions from the following :

1. Discuss in detail performance of different sectors in India.

2. Discuss in detail reforms in financial sector in India.

3. Critically examine the Malthusian theory of population.

4.  Explain analysis of poverty in India.

5. Discuss role of state in environment preservation.

6.  Discuss relationship between population, poverty and environment.

7. What is demonetization ? Discuss its impact on Indian economy.

8.  Discuss role of planning in Indian economy after economic reforms.
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Answer in short any four from the following :

State the basic economic indicators.
Give the meaning of poverty.

Give the meaning of unemployment.
What is inflation ?

What is environment ?

State the characteristics of Indian population.

What is absolute poverty ?

What is relative poverty ?
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Attempt any three :

1.  Make a note on labour problem in India.

2. Discuss on economic reforms in India.

3. Discuss on characteristics of Indian labour market.

4.  Make a note on labour market flexibility.

5. Discuss the neo classical theory of wages.

6.  Make a note on wage comparison.

7. Discuss on theory of collective bargaining.

8.  Make a note on workers participation management.

9.  MCQs. (Any four)

(1) A profit maximizing firm hires labour upto the point where

2)
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(a)
(b)
(c)
(d)

the quantity of labour equal the marginal product
price equals the wage
price equals the quantity of labour

the wage equals value of marginal product

A firm’s demand for labour curve is also

(2)
(b)
(©)
(d)

its value of marginal product curve
the supply of labour curve
the demand curve for the good it produces

its marginal cost curve
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If the wage rate increases, a firms demand for labour curve

(a) shifts leftward

(b) does not shift and there is no movement along it

(c)  shift rightward

(d) does not shift but there is a movement along it

The labour supply curve is backward bending when

(a) the workers utility rises with income

(b) the workers utility rises with leisure

(c) the income effect of wage change outweighs the substitution effect
(d) the substitution effect of a wage change outweighs the income effect
The substitution effect of a wage changeis

(a) a function of the income effect

(b) may be positive or negative

(c) infinitely elastic

(d) the difference between the total effect and the income effect

Empirical studies of the demand for labour suggest that women and youth are

(a) substitutes (b) complements

(c) neither substitutes nor complements (d) highly unionised
The discouraged worker effect occurs where labour market participation
(a) falls as the unemployment rate falls

(b) falls as the unemployment rate rises

(c)  rises as the duration of an individual unemployment rises

(d) rises as the duration of an individual unemployment falls
Which one of the following is not based on the principle of welfare ?
(a) Mica Mines Labour Welfare Funds Act

(b) Iron Ore Mines Labour Welfare Funds Act

(c) Minimum Wages Act

(d) Dock Workers (Safety, Health, Welfare) Act



